tyco o
T Circuit Breakers

Typical PartNo.> | W 23 | X 1 A 1 G -5

1. DESIGNATOR:
W = Circuit breaker

2. SERIES NUMBER:
23 = Single pole, push/puilt

3. CIRCUIT FUNCTION:
X = Series trip

4. BUTTON: )
1= Blgck with white amp rate marking and white trip band.
§. MOUNTING BUSHING: :
: A = 3/8"-24 threadad bushing .376" (9.53mm) long, silver color
6. TERMINALS (See drawings for relative terminel positions):

1 = Screw terminals situated 90° to each other with #8-32 screws and washers installed.
3 = Screw terminals situtated paraliel to each other pointing upward with #8-32 screws and washers instaited.

A = Knurled nut/hex nist installed

G = Two hex nuts/lockwasher

Z = No mounting hardware suppiled : g
8. AMP RATING:

05 3 75 20 35

1. 4 10 - 25 40

2 5 15 30 50

namtoimed i s tock for ammmehate detivery

ITEMS - Thie Follonsng themme, e 66

W23-X1A1G-1 W23-X1A1G-7.50 WZ23-X1A1G-25 W23-X1A1G-50
W23-X1A1G-2 W23-X1A1G~10. W23-X1A1G-30

W23-X1A1G-3 W23-X1A1G-15 Ww23-X1A1G-36

W23-X1A1G-5 W23-X1A1G-20 W23-X1A1G-40

CFHUNG INFORMATION

Typical Part No. > W 31 2 4 2 M| 1 a -5

1. DESIGNATOR:
W = Cirouit breaker

2. SERIES NUMBER:

31 = Single pole, toggle actuator
3. CIRCUIT FUNCTION:

X = Series trip
4. MOUNTING BUSHING:

1 = 15/32"-32 threaded bushing .320" (8.13 mm) long, round, silver color
2 = 15/32"-32 threaded bushing .320" (8.13 mm)} long, double “D", silver color

TOGQLE: )
M = Shiver color metal toggle, round, with amp rate marking on end

6. TERMINALS (See drawing for relative terminal positions):
1 = Screw terminals situated 90° to sach other with #8-32 screws and washers instalied.
5 = Screw terminals situated parallel to each other pointing downward with #8-32 screws and washers installed.

STOOR ITEMS - The folinwing itaims i Gk
Wa1-X2M1G-1 W31-X2M1G-7.50 - W31-X2M1G-25 ' W31-X2M1G-50
W31-X2M1G-2 W31-X2M1G-10 W31-X2M1G-30
W31-X2M1G-3 W31-X2M1G-15 W31-X2M1G-35
W31-X2M1G-5 W31-X2M1G-20 ‘ W31-X2M1G-40

368 SFEEIHITIES

www.relayspec.com T sales@relayspec.com



